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4 2. Prove that if lim,; e 6 = 0 and {b,} is bounded, then
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4 3. Use the Integral Test to determine whether the series is convergent or divergent:
marks
o0
>
2
n=2 n

¢
LC‘L 'FCX); _vg(_; 790 | Conhanous On L‘Zloo)

do.(feo-sn‘ng on (2, 00) l:e.cauje_ ]ﬂ"(x),: -;-(-x",(&x)zx _ [~2 4 x
o - NE <O

'-FQ(" Qn x> A

x> e

AF(Y\\: e’-’-‘{f—:

g‘g‘:\_;_'('dx:&mfef_x.o{x—h‘m é’enxi-a{ £, 1“!)
LT Rk b o Gt [l () 1

e ‘_(/‘—'lgi bosea 2 X
Sz-L
L Gh, L2 (XTk g
tgﬂt[—f+7+[—2+;].>_]~bm (O+€;‘3 L] 2,5
i - o a L )" _5.—+é
= e,

= 2_ 1
T T T 7O by Vopidel ke

The inkff“i CONVRILs =0 Ky geqies

I+ %4 C.QAL\"-Q[S&;\{!'_



Calculus 1501B
Midterm Examination 2

Friday, March 14, 2014
Page d

7 4. Determine whether the series converges or diverges. If it converges,
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8 5. Determine whether the series is convergent or divergent. State clearly which test you are
marks using.
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gmrks 6. Use the Alternating Series Test (if possible) to test the following series for convergence:
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12 7.
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vergent, or divergent.
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marks Find the radius and the interval of convergence for the following series;
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